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總體93/上     第一次考試   班級：        學號：           姓名：

Williamson Ch 1-4  (2004/10/28, 9:10-10:50 am)  
I. Multiple Choices (40 points, with 4 points for each question)

注意：答案請寫在選擇題最後一題下面的答案格上。

1.
GDP may inaccurately measure the value of aggregate output because it may not properly
account for

(a)
production in the underground economy and the true value of government production.
(b)
the true value of government production and the proper value of purchases and sales of used goods.
(c)
the proper value of purchases and sales of used goods and depreciation of consumer durables.
(d)
the depreciation of consumer durables and production in the underground economy.
For the following two questions, suppose that an economy produces only bread and computers. Assume that all production is consumed in each year, and that price and quantity data are given in the table below.

	Year 1

	Good
	Quantity
	Price

	Bread
	30
	$10

	Computers
	10
	$50


	Year 2

	Good
	Quantity
	Price

	Bread
	40
	$15

	Computers
	30
	$60


2.
If Year 1 is the base year, the GDP price deflator for Year 2 is approximately 

(a)
100.0.
(b)
126.3.
(c)
131.3.
(d)
181.0.
3.
If Year 1 is the base year, the CPI for Year 2 is approximately

(a)
100.0
(b)
126.3
(c)
131.3
(d)
181.0
4.
Suppose that GDP is equal to 1000, national saving is equal to 200, the current account deficit is equal to 100, and the government budget deficit is equal to 50. Investment must equal

(a)
150.
(b)
200.
(c)
250.
(d)
300.
5.
Forecasting the future path of real GDP by exploiting past statistical relationships

(a)
is never very reliable.
(b)
can be accomplished by the construction and use of an index of leading variables.
(c)
can be accomplished by the construction and use of an index of lagging variables.
(d)
can be accomplished by the construction and use of an index of coincident variables.
6.
Real investment tends to be

(a)
procyclical and less variable than real GDP.
(b)
procyclical and more variable than real GDP.
(c)
countercyclical and less variable than real GDP.
(d)
countercyclical and more variable than real GDP.
7.
When consumption and leisure are both normal goods, an increase in real dividend income minus taxation, the rational consumer

(a)
increases consumption and increases labor supply.

(b)
increases consumption and reduces labor supply.

(c)
reduces consumption and increases labor supply.

(d)
reduces consumption and reduces labor supply.

8.
The construct of a representative firm is most helpful in describing the behavior of all of the firms in the economy when

(a)
there are constant returns to scale.

(b)
there are increasing returns to scale.

(c)
there are decreasing returns to scale.

(d)
the marginal product of labor is increasing in the amount of labor input.

9.
An increase in total factor productivity shifts the production function

(a)
upward and increases the marginal product of labor.

(b)
upward and decreases the marginal product of labor.

(c)
downward and increases the marginal product of labor.

(d)
downward and decreases the marginal product of labor.

10.
If the real wage is equal to 8 widgets, and only an integer number of workers can be hired, the Gizmo company should hire

(a)
2 workers.

(b)
3 workers.

(c)
4 workers.

(d)
5 workers.

選擇題答案請寫在下面答案格上：

	1.
	
	2.
	
	3.
	
	4.
	
	5.
	

	6.
	
	7.
	
	8.
	
	9.
	
	10.
	


II. 計算題與申論題 (總分: 60 分)
答案請直接寫在題目卷上。
(計算題請寫計算過程，只有答案不計分。若公式正確但計算錯誤則部分給分。
分析題請說明過程。)

(計算題請寫計算過程，只有答案不計分。若公式正確但計算錯誤則部分給分。)
1. Assume an economy with a coal producer, a steel producer, and some consumers (there is no government). In a given year, the coal producer produces 20 million tons of coal and sells it for $5 per ton. The coal producer pays $60 million in wages to consumers. The steel producer uses 30 million tons of coal as an input into steel production, all purchased at $5 per ton. Of this, 20 million tons of coal comes from the domestic coal producer and 10 million tons is imported. The steel producer produces 12 million tons of steel and sells it for $20 per ton. Domestic consumers buy 10 million tons of steel, and 2 million tons are exported. The steel producer pays consumers $50 million in wages. All profits made by domestic producers are distributed to domestic consumers. (Total:15%, with 5% for each.) 
Determine GDP using (i) the product approach, (ii) the expenditure approach, and (iii) the income approach.

(計算題請寫計算過程，只有答案不計分，若公式正確但計算錯誤則部分給分。)
2. Suppose that government expenditures are 30, the government deficit is 15, interest on the government debt is 5, taxes are 40, consumption expenditures are 85, net factor payments are 10, the current account surplus is -15, and national saving is 20. Consumption expenditure and government expenditure are both measured in GDP definition. Calculate the following: 
(Total: 20%, with 4% for each. ) 
(a) Private disposable income
(b) Transfers from the government to the private sector
(c) Investment expenditures

(d) Gross domestic product
(e) Gross national product

3. Suppose that the government imposes a proportional income tax on the representative consumer’s wage income. That is, the consumer’s wage income is 
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, where t is the tax rate. What effect does the income tax have on consumption and labor supply? Draw a graph and explain your results in terms of income and substitution effects. (15%)

4. Suppose that the government subsidizes employment. That is, the government pays the firm s units of consumption goods for each unit of labor that the firm hires. Draw a graph and determine the effect of the subsidy on the firm’s demand for labor. (10%)
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